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- (e) If X, and X, are two possible outcomes

of a risky situation, and P, and P, are .

their respective probabilities, find the
expected utility.

T X, SIF X, 96! S0 A2 16! TSIy
SIfREI 27, S P, Ol P, @ €2 40! ARIR
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(/) Who is known as the father of game
theory?
(o Rt fPrpeet RE Sl A e

(g9 What is meant by Pareto optimality?
(AT SeTel I [ e 2

(h) State the First Fundamental Theorem
of Welfare Economics.

Tl Siton AN GNfeRr SoisivIee! Srad
34|

2. Answer any six of the following questions :

weTs Tl eXPTR RiTiT! ZAbrT OeA il &
2x6=12

(a) Explain the concept of marginal
productivity.
AT oIS LI=EIE! It 51 |
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1. Answer the following questions : 1x8=8

oo firal e B firm o

(@) Define ‘derived demand’.

R biferrs el fim

(b) Write the mathematical form of the
C.E.S production function.

C.E.S SeAAlA wwd slifafess sl et |

(c) What is partial factor productivity?
SR Bl Sestrierel 2

(d) With a 12% interest rate, what is the -
present value of Rs. 120 that will be
received in the next year?

BO6FN 0066

(b)

(©

(@)

(e)

(@)
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What is a fixed coefficient production
function ?
9 weiise Teoime T (52

=
What does a contract curve indicate? -

S TR [ PR

If two possible outcomes of a risky

situation are Rs. 100 with probability
0:4, and Rs. 120, what will be the
expected income of the situation?

I Remene #If{FES ORIy e 1
5l IR SIS e 0-4, Wi 120 T
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Define fair gamble with an example

Trizsdl GO e RPIeS G Fee! 3|

State two major differences between
monopoly and monopolistic competition.

GHHHA SE GRGHAE SR e
LRSI RS AT R

Who is a player in Game Theory ?
G RFS @F 9oH (I 2

Explain the concept of social welfare
function.

AMEE Fenial FewF GIFNCE! A 11 1
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(i) Define the Kaldor-Hicks compensation
priniciple in brief.

IT-fRm FOsEd TS FKCHCA FEAS 1 |

() Interpret the slope of the transformation
curve.

eI @AF Gl O e 10 |

Answer any four of the following questions :
5x4=20

oo il eniE el o119 Oes w8

(a) Discuss how technological progress
changes the position of the production
function. Explain in this context, capital

deepening and labour deepening
technological progress.

oo BafS Geniia o 3o GReme o
A S 5 | 2 TGS TG GOIP
I =fe qoiee T aFfeers Safe it
41 |

(b) For the Cobb-Douglas production
function Q = AL*K”, show that a+/
indicates return to scale.

F9-GofeR Tl FeW Q.= ALPK? ¥ AR,
ST (@ o + B G @l ARG &lfSwil P |
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Besm S RS (AR SFEEEToN
i TR Serier
- (h) State the Second Fundamental Theorem
of Welfare Economics with a suitable
diagram.
ol SRR RSk G $oAM TS T
451 oA foud RS T A
Answer any two of the following questions :
: 10x2=20
ot Al PR e Fo19 Oed e ¢
(a) Explain the demand for labour in a
perfectly competitive market when—
(i) labour is the only variable factor
(i) there are several variable factors.

7 efSrifienEe ITT© «f¥esq Bifeml it
41, @AfoT—
() = GG ARTESTAET IS
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(b) With the help of a suitable diagram,
explain how the production possibility
frontier is derived for a multi-product
firm. '

oige fHag RIS, @bl <z B elfobia
Q[ TeolE FSEEl AN (@ETE SRS
=7 e <=4 |
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(©)

(@)

(e)

; @)

“For risk averters, losses are more
important than gain.” Explain the
statement with an example.

‘il Readl ™ A, EIFHH ACSE
it gl | Tz «bIc el <efdl <+l
s

What is certainty equivalence incomeé. ..,
(CEI)? How is the cost of risk measured- :

using the CEI? 3+2=8 I
fiff5® rgen A (CEI) P2 CEI I921 3% )
R I (T Tl = 2

g
Distinguish between the perceived and i’{g
proportionate demand curves und€f 3=
monopolistic competition. Which 1)
these two curves is flatter and why2, =€

3+2z

G Aferiben wfive auifie i
AT iRt @R Aere iy w11 56!
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Taking an imaginary pay-off table,
explain the equilibrium in the case of
a two-person zero sum game.

T (ohoE G RS, TE Ufed
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Derive the marginal conditions for
Pareto optimality in the context of
product mix.
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(d)

(e

Explain how a consumer will choose to
spend her money across two time
periods with a fixed rate of interest in
order to maintain equilibrium.

SN SES AFE FRC GG 2BF ((FEVE
75! s e 1 g7 RdffRe To1 9 oie
Y FRA [oIE 1t 744 |

Explain with diagram, how a
diseriminating monopolist attains
equilibrium.

Riconisl oAl A @EmE SRy
oY 0, baF F2e T 41

Explain Walras’s vision of the working (-
of the economic system.

AT IR FE-FE [ I
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